® -0

_09
99 — _(32)9 — _318 — _(33)6 — _A6




2.

a= 2% 101[[H 42x l_aoﬂ ‘_-[‘ﬁl_ ]OE

@ 8a @ 24> B 4a?

B

4251 — 92(2x-1) _ 9dx-2
gdr-d 92 _ 94(x-1) y 92
=4x (2"‘1)4
=4xat
= 4q*







_3x—4y+1 B_—2x+3y+2
- 2 3
Aoz uhzs e 287

A

A, 24-6B+55 x, yoll T3t

® -x+2y+10 @ —x—-10y+2 ® Tx+2y+10
@ 7x-10y-3 @7x—10y—|—2

~&B ~

A%t BE 4] 24 - 6B+ 5° Y3t
2(3)6—4y—|—1> _6(—2x—|—3y—|—2) 45

2 3
=Bx—4y+1)-2(-2x+3y+2)+5
=3x-4y+1+4x-6y—4+5
=Tx—10y+2




x:g,yzzg”onm 2ax - 3byS %} bol Tt Ao Lheh w7

® 2a-2b @ 2a-3b @a2—2b2
@ a2 - p2 ® 2a? - 3b?

9 _
x:g,y:é’%q 2ax - 3by ] A5t
a 2b
_ b — 2_2b2
2a><2 3 ><3 a




6.

y=2x-1¥¢ o, x-2y+55 xof &

D —4x-2 @ -x-1

@—3x+7 ® 4x-3

x—-2y+5°y=2x-1=dY
x—22x-1)+5=x—-4x+2+5
=-3x+7




7.

92 = 32¢ x 3V Of| 4] y 9] ZE2?

o3 @ ® 5

9x+2 — (32)x+2 _ 32x+4 — 32x+y
2x+4=2x+y
Ly=4




8.

rlo
)

16942 = 40 Traol 1 9] 3t

163x+2 — (42)3x+2 — 4x—6 O]_U_i

6x+4=x-6
5x = —10
SLox=-2




9.

Lo

22x X 23x — (22)2 X ¥
25x — 2x+4

Sap=1




10.

243% = 81" = 273 A ], o] Fr&?

D1 @ 2 ® 3

@)4

(35)5 =~ 34n — 325—4n — 39
25—4n =29
“n=4




— ™

® 32

@ 3

38-10 _




o, (—4)? + (=2) = (-2)* oI x +y 9 W= Tt

@ 8 @®)10 ® 12




